Question Paper Preview

Notations:
l.OptiOﬂS shomwl in greer color and with L 1001 Are Correct.

2 Options shown in red color and with % icon are incorrect.

Subject Name: COFFICE ASSISTANT I11
Duration: 180
Total Marks: 200.0

Question Number : 1 Question Id : 13453 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
In the following question there is a certain relationship between two given
words/numbers on one side of (: :) and one word/number is given on another side of
(: :)while another word/number is to be found from the given alternatives, having the

same relation with this word/number as the words/numbers of the given pair bear.
Choose the correct alternative,

5:125:: 7.7
Options:
1 % 49

o o 343
3 %7
4 % 35

Question Number : 1 Question Id : 13453 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

farafef@aa vea &, Fes (¢ ) & e O ol Ter/TEn3it & e 9w g ¢ 3R
IEGIE :}ﬁa@ﬁaﬁ%&m@mﬁrg@ﬁmsﬁwaﬁmﬂwﬁﬁ few arw
feredt A & fordll v fawed & off &, @8 Reeq 1 glavl

51252772
Options:
1. % 49

o> o 343
3 % 7
4 % 35

Question Number : 2 Question Id : 13454 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



In the following question there is a certain relationship between two given
words/numbers on one side of (: :) and one word/number is given on another side of
(: :)while another word/number is to be found from the given alternatives, having the
same relation with this word/number as the words/numbers of the given pair bear.
Choose the correct alternative

42:20::64:7
Options:
1.9 31
o W 24
3 ® 32
4 ® 23

Question Number : 2 Question Id : 13454 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

farafef@aa vea &, Fes (¢ ) & e O ol Ter/TEn3it & e 9w g ¢ 3R
IEGIE :}ﬁ@ﬁﬂﬁﬁﬁ@mﬁdﬁég,méﬁﬂmﬂmm e e
feredt A & fordll v fawed & off &, @8 Reeq 1 glavl

42:20::64:7
Options:
1« 31

2_% 24
3 ® 32
4 % 23

Question Number : 3 Question Id : 13455 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following question there is a certain relationship between two given
words/numbers on one side of [: :) and one word/number is given on another side of
(: :)while another word/number is to be found from the given alternatives, having the
same relation with this word/number as the words/numbers of the given pair bear.
Choose the correct alternative

Flower:Bouquet::Singers:?

Options:
1 # Stock

o ® Crowd
= " Chorus
4 % Flock

Question Number : 3 Question Id : 13455 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frafetad vead &, 9% (0 1) & vF X% of A/ § v Ay g5 g AR
s (; :}Eﬁrﬁﬁﬁﬁmﬁﬁmﬁ’mé’rﬁﬁ oldh Sl Y &l HFdedl ol g 1w
faedt # & fanelt v fawew & off §, 98 e =1 giavl

Bl eI IR ?



Options:
1 % T

o % HI5
5 o IR
4.%3;3

Question Number : 4 Question Id : 13456 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

In the following question there is a certain relationship between two given
words/numbers on one side of [: :) and one word/number is given on another side of
(s :)while another word/number is to be found from the given alternatives, having the
same relation with this word/number as the words/numbers of the given pair bear.
Choose the correct alternative

Kochi:Kerala::Karaikal:?

Options:
1+ Puducherry

- #® Tamilnadu
= # Andhra Pradesh
4. # Karnataka

Question Number : 4 Question Id : 13456 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frafafad vead &, [&e% (0 1) & UF X% of A/l § v Ay g5 g AR
IEGIE :}Eﬁrﬁﬁﬁﬁmﬁﬁmﬁ’mﬁﬁﬁ olh Sl Y &l HFdedl @il g a1e
faedt # & fodll v fAeew & off §, @8 Baeq =1 gl

FIfee: el FShe?

Options:

Question Number : 5 Question Id : 13457 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Pointing to a man, Palak said, "My brother is the maternal uncle of this man's son." How is the man related
to Palak

Options:
1 % Brother

o # Father
= % Husband
4 #® Uncle

Question Number : 5 Question Id : 13457 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



T 9EY I 3 SURT FRd §U Teieh o HeL"AU A3 56 cdiad & I & AAT B
fFd & Ul O o7 SFae T &

Options:

| % BTG

> % Toar

3 o 9fd
4 % T

Question Number : 6 Question Id : 13458 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
If in a certain code, 48282 is coded as 66464, how is 43020 coded in that language

Options:
1. ¥ 62464

>« 66202
2 # 66404
4 % 57872

Question Number : 6 Question Id : 13458 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

v AfFgd S5 # 48282 & 66464 @ Smar §,397 #mr # 48020 & &9 UK

oEr S
Options:
1 ® B2464

= " 66202
z. ® 66404
4 ® B7872

Question Number : 7 Question Id : 13459 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
If in a certain code, SADAR is coded as RADAR, how is TRUNK written in that code

Options:
1. % KNURS

= % SUNRK
2. ® KNURT
4. % KUNRT

Question Number : 7 Question Id : 13459 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TordT fafeme &is 7 SADAR &7 RADAR To@r am=m, 34 &5 # TRUNK & 7T 9T

oEr ST
Options:
1.« KMNURS

= ® SUNRK
3. % KNURT
4 % KUNRT



Question Number : 8 Question Id : 13460 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
A is 17 m South-East of B. C is 34 m South of B. Then, C is in which direction of A

Options:
1 # MNorth-East

> # North
= #® West
4 % South-West

Question Number : 8 Question Id : 13460 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

A,BHF 17 A caiomd, C,B &34 Aex e # ¢ T C, A @ frg Rar &
£7?

Options:

| Seoqd

2 % Jcdl

3. % OiYaH

4+ GI&TUT-gieEa

Question Number : 9 Question Id : 13461 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Insert the correct number at the place of question mark

2,9,28,7,126
Options:
1. ®¥ 50

> % 56
= W 65
4 % 82

Question Number : 9 Question Id : 13461 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

geed T=ieg &l FAIE Hal TEAT ol 9d hilaAr

2.9,28.7.126
Options:
1 % 30
> % bbb
= « Bb
4 % 32

Question Number : 10 Question Id : 13462 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Insert the correct number in order to complete the given series.
5, 25,..,625

Options:
1. % 80



> % 105
3 & 125
4 % 225

Question Number : 10 Question Id : 13462 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

& g% Aol 9ol X od TET §ET & 99
5. 25625

Options:
1. % 80

> % 105
3.9 125
4 ® 225

Question Number : 11 Question Id : 13463 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Insert the correct number at the place of question mark

1,8,9,64,7, 216

Options:
1 & 25

> ¥ 100
= ® 149
g w169

Question Number : 11 Question Id : 13463 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

UeeiTeles bl oI9Ig Hal AT &l el hilalar

1,8,9,64,?7, 216
Options:
1« 2b

2 % 100
3 % 149
4 % 169

Question Number : 12 Question Id : 13464 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Read the following information carefully and answer the question.

Rajeev, Ramesh ,Sunil, Siddharth, Shivam, Rajesh and Raman are playing cards sitting around a circular
table. Siddharth is not the neighbour of Sunil or Shivam.Rajiv is the neighbour of Ramesh and Sunil. Raman,
who is second to the left of Siddharth is the neighbour of Shivam and Rajesh.

Who is between Rajeev and Siddharth?

Options:
1+ Ramesh

o & Sunil



= # Shivam
4. ¥ Raman

Question Number : 12 Question Id : 13464 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

fArefad e & eaadas 96 HR wRa # 3caw §

et T, Goiter, gred, RaA, st va el Tas dilel Ao # dody arer W @ gl
ferarel, Heirter a1 faH &1 USIET FET &1 Tsita, Ter 3T FGeiver &1 TS &l A, 5
famel & arT & gy &, a5 f¥as 3R Teter @ 9sE

el 3 et & i b der 87
Options:

1« T
o % Gellel

3 % qaH
4 % I{Hd

Question Number : 13 Question Id : 13465 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Read the following information carefully and answer the question.

Rajeev, Ramesh ,Sunil, Siddharth, Shivam, Rajesh and Raman are playing cards sitting around a circular
table. Siddharth is not the neighbour of Sunil or Shivam.Rajiv is the neighbour of Ramesh and Sunil. Raman,
who is second to the left of Siddharth is the neighbour of Shivam and Rajesh

Who is to the immediate left of Sunil?
Options:
1 % Ramesh

= «" Rajeev
= # Shivam
4. ¥ Raman

Question Number : 13 Question Id : 13465 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

fAFafeiaa Saeil & wd9ds 9¢ AR wed & 3caW &

IStE, T, eirer, Rgre, feras sier v IH U Al AT A doa] ard Wl W@ bl
frgrey, geirer a1 f9a# 1 TSI F6T bl ITeiE, @ SN Gerer H 9sr §l 3, S
fgrl & arT § gaw &, 9§ [REA 3K [eter & gsr §

Foier & i At 3R P dor 32

Options:

1. % TAA
>  USd
3 % &R



4 % THA

Question Number : 14 Question Id : 13466 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Read the following infermation carefully and answer the question.

Rajeev, Ramesh ,Sunil, Siddharth, Shivam, Rajesh and Raman are playing cards sitting around a circular
table. Siddharth is not the neighbour of Sunil or Shivam.Rajiv is the neighbour of Ramesh and Sunil. Raman,
who is second to the left of Siddharth is the neighbour of Shivam and Rajesh.

Whoao is second to the left of Siddharth?
Options:
1 % Ramesh

-~ # Rajeev
= # Shivam
&4 % Raman

Question Number : 14 Question Id : 13466 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TFafaad SaenT & =aegds 96 R 93 @ 3ca) &

TelE, @, Golrel, Agre, faasm,iater va IR U Aol AT 7 doa) e W W@ ol
Rrrsl, GeieT AT foae T TSR @ #1 et W AR e a gene ¥ @, o
fgrel & arv & gav &, 9§ [aA 3R Ierer @ gsr §

fEarey & a1 ¥ g &I dor §7?

Options:

1 ® AT
> % el d
3 % fIaH
4 o {HA

Question Number : 15 Question Id : 13467 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Read the following information carefully and answer the question.

Rajeev, Ramesh ,Sunil, Siddharth, Shivam, Rajesh and Raman are playing cards sitting around a circular
table. Siddharth is not the neighbour of Sunil or Shivam.Rajiv is the neighbour of Ramesh and Sunil. Raman,
who is second to the left of Siddharth is the neighbour of Shivam and Rajesh.

Who is to the immediate right of Shivam?

Options:
1 # Ramesh

- # Rajeev

= # Shivam
4 " Raman

Question Number : 15 Question Id : 13467 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

fAFafaiaa el & ea9de 9¢ AR wed & 3caW &

StE, e, Heirel, Rgre, fam (eier v I/ U Aol AT A doa] arer Wl W1 bl
fgrel, Heirer a1 f9ad &1 USIE A61 &1 Teild, Wer A Geiler &0 IS §l HeA, S
fEgrel & v & qEy ¢, 9 Rlad AT Tser # usiEr §

firae & &1 grRft 3R &ia der g7
Options:

1 % AT
o % e
3 % &R
4 o {Hd

Question Number : 16 Question Id : 13468 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Read the following infermation carefully and answer the question.

Rajeev, Ramesh ,Sunil, Siddharth, Shivam, Rajesh and Raman are playing cards sitting around a circular
table. Siddharth is not the neighbour of Sunil or Shivam.Rajiv is the neighbour of Ramesh and Sunil. Raman,
who is second to the left of Siddharth is the neighbour of Shivam and Rajesh.

Who is at the fourth position from the right of Rajeev?
Options:

1+ Rajesh

o # Sunil

= #® Shivam

4. % siddharth

Question Number : 16 Question Id : 13468 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fAFafeiEa Sael & egd9de 96 AR Wed & 3cai &

Tla, T, Hoiret, Rgre), fAasm ater v I/ U Aol AT 7 doa] arer Wl W@ bl
gy, geirer a1 f91a# 1 TSI 76T 6l T, @R SN Gerer H 9si §l 3, S 6
fgrel & art & gav &, 9§ [¥EA 3T Ierer & gsr §

ST & et @ =ter wi der 87
Options:

1 W qrarer

Question Number : 17 Question Id : 13469 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
Pick out the odd one from the given numbers
81,121,169,197,225

Options:
1. % 81

> o 197
3 ® 225
4 % 121

Question Number : 17 Question Id : 13469 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

o1 T OEAE # o fAed 9 oifew
81,121,169,197,225

Options:
1. % 81

o o 197
3. 8 225
4. % 121

Question Number : 18 Question Id : 13470 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Identify the pair which is different from the other given pairs.
1-1, 2-2, 4-12, 6-30, 8-56, 10-90

Options:
1.9 1-1

o w22
2 #® 856
4 # 10-90

Question Number : 18 Question Id : 13470 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

mmﬁmwmaﬁ&@mmﬁm#
1-1, 2-2, 4-12, 6-30, 8-56, 10-90

Options:

1+ 1-1

o W 2-2
= # 8-5bb
4 # 10-90

Question Number : 19 Question Id : 13471 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Find the odd one out of the following

Options:
1 % PBacteria

o ® Amoeba
= # Paramecium

g4 % Insect



Question Number : 19 Question Id : 13471 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T e 7 § s 8o &7 SIeT

Options:

1 % Sy
> % 3THYeT
2 % tREAEEH
4  HIST

Question Number : 20 Question Id : 13472 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Choose the group of letters which is different from the others given in the alternatives

Options:
1. ¥ ACE

> # CEG
= + BDE
4 % DFH

Question Number : 20 Question Id : 13472 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e 3Rt & WIE ¥ ¥ UF N T ¢ o BT gv Aew fawent F few ¥
Options:

1. % ACE

> & CEG

=« BDE

4 % DFH

Question Number : 21 Question Id : 13473 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following statements 1s/are correct?

[. Kulothunga [ was a Chola Monarch

II. He gave complete freedom to Srilanka

IT1. He got his daughter married to the Simhala prince

IV. He was killed by his father

Options:
1 #® Only I

> % Oanly [and III
z o I ILand IIT
4 #% ILIIand IV

Question Number : 21 Question Id : 13473 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



P # 3 9 91w R 87

1. AT 1 Ueh <ited ToIT 2T |
1. 35 et o1 quia. Terdwar & oft|

111. 394 319t 5121 BT oreng Rrger T & @tes 2|
IV. 35 TOaT A g1 5T godr wT &1 2|

Options:
1, ® <hdel |

> % had 13T
= « LA W

4 % LA v

Question Number : 22 Question Id : 13474 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Which of the following statements 1s correct?

Options:
1 % The name of the last Caliph of Baghdad appeared for the first time on Qutubuddm Aibak's coms

o % Iltutmish got married to a hindu princess of Magadh
= " The name of the last Caliph of Baghdad appeared for the first time on Alauddin Khilp's coms

4 % Allauddin Masud Shah got married to a hindu princess of Magadh

Question Number : 22 Question Id : 13474 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

[Aea & T & T FAT Ter 52
Options:

| % FALEE Vad & fHFH W @IEE & A Gelwr 1 A9 ggen ar ferar |
o w SeqAE & fqaE FHT H fGeg IHHANT § §3T o)

o o HeBEe [Welall & [Hasl W dwEIelE & A0H Gelldl & = Tgell o0 for@r =)
, » HOSES FHE A6 & @At A i Geg TN F G o)

Question Number : 23 Question Id : 13475 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Aphelion 1s a situation

Options:
1« When the earth 1s at the largest distance from the Sun
o #® When the earth 15 at the smallest distance from the Sun

= % When the earth is at the equal distance from the Sun and Moon

4 % When the earth 1s at the largest distance from the Moon

Question Number : 23 Question Id : 13475 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U 3T= (aphelion) FFa & & =9 o @ &
Options:

| o O g G ¥ HTORTA g WA §



, s o g g ¥ g g o B
5w o9 9 G AR Feeer F GAE gl W OEKdr §
4 % 99 Q¥ TewA § HIRdA g Wl &

Question Number : 24 Question Id : 13476 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which 1s known as Gateway to Ravalaseema

Options:
1 % Krishoa

o # Guntur
=« Kurnool
4 % Prakasam

Question Number : 24 Question Id : 13476 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e & Fla e & v gaer gar) & 9 & A= S 8
Options:

Question Number : 25 Question Id : 13477 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which one of the following is correct about the commeon point of agreement between Indian and US
federalism 1s

Options:
1 % Centre has the residuary powers

= % Residuary powers belong to the States
= % The supreme court provides support to high courts for concurrent jurisdiction in certain matters

4 +" The supreme court 1s arbiter in the events of conflicts between the Centre and the States

Question Number : 25 Question Id : 13477 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

g ® @ A9 5T T Iy 3R [t geng & dig 3waEs (Common) g

Options:

1 % 3Jdieree ¥R &g & 9N &
5 % HdiEse HESR U=l & 99 §

Tdfed ~aAed GAddl ATRR &7 & FS A 7 709 Yel- a1 A Iod cararad
3. % WErr T &
4 « Tdfod =aEeE &g AN T & 9" 999 7 9ot #F JasyT §

Question Number : 26 Question Id : 13478 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Bevond a certain limit. a deficit financing will certainly lead to

Options:
1« Inflation

= % Deflation
= % Recession

4 % Economic stagnation

Question Number : 26 Question Id : 13478 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T =fad 9= & @, U 9 & [dod cgasr e 79 Fae T 33w g

Options:

| v TR
o % HOEhITT
= ®% HIfEE 7
4 % HTAF Se3

Question Number : 27 Question Id : 13479 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The term ' tee’ 15 associated with which of the following sports 7

Options:
1 % Cricket

= « Golf

= % Swunming

4 % Volleyball

Question Number : 27 Question Id : 13479 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

oreg €T, foh Wel & W1 5T 3T &7
Options:

1. ® fhee

> « TMeh

3. % CIRT

4, % dicidiel

Question Number : 28 Question Id : 13480 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Who has recently been appointed as new Election Commuissioner of India ?

Options:

1. % Anil Kashayap
= « OP Rawat

= % Kishore Piraji Kharat

4 ® T.N. Sheshan

Question Number : 28 Question Id : 13480 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



AR & =0 I1d 3T & &0 7 50 Fgea @ar = &2
Options:
1 ® Hdel 3T

o o 3T Jad
5 % &R s @a
4 ® TUA. 99T .

Question Number : 29 Question Id : 13481 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Who took charge as the chairperson of Dellu Commission for Women 7

Options:
1« Swati Maliwal

o % Usha tapar
= % Nwbhaya Singh
4 % Acha Ranot

Question Number : 29 Question Id : 13481 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

BIST&r # Teod Afger maer I 3regsT F 7 # S0 SRR THeT &2
Options:

1 « Tl AT
o W 39T UMY

o ¥ ﬁﬁiﬂfﬁﬁ
4 ® FHTRIT 01T

Question Number : 30 Question Id : 13482 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Who sworn in as New Prime Minister of Srilanka 7
Options:

1 % Swapml Vikrama smghe

2 # T Shiramakaran

= % T Vikrama Smghe

4 + Ranil Vikramasinghe

Question Number : 30 Question Id : 13482 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

AT & AT TE=S4l & 9 7 gt a9 w7
Options:

1 % TaftAd deAMa
> % O T9R&AET

5 % of fawatae

4 « U= Awafas

Question Number : 31 Question Id : 13483 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Which one of the following statement 15 correct 7

Options:
1 % Chandraprabha Sur was a renowed Jain Acharya. who was greatly honoured by Akbar

- % Pushpadanta was killed by Akbar in a regional war
= % Yasobhadra was a renowed Jan Acharya. who was greatly honoured by Akbar

4 + Hmavyya Suri was a renowed Jam Acharya. who was greatly honoured by Akbar

Question Number : 31 Question Id : 13483 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

T3 & ST a1 Fue wh &2
Options:
| x TETT G O S HIEE O T57ot 3fehe’ @RI a5 FeaTerd fadr Sy o

o x T5ed UF &V I & N 3t gl AR Y O
o TUEE U S A I S e AN 957 AT 6 S
4 eiidea G 9iGg St 3§ et 3ihay EaRT agd TEATAd [ ST &

Question Number : 32 Question Id : 13484 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The phrase "Grand Old Man of India’ 15 used for which of the following person?

Options:
1 « Dadabhai Naoroji

2 # Mahatma Gandhi
= % Gopal krishna gokhale
4 #® Blumrao Ambedkar

Question Number : 32 Question Id : 13484 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FrafeiEa # 9 oy cafdd & gdrea # ardane '9id & 35 Hles A & seaare o Aam
&7

Options:

1. CICTTS =Isi

5 % FGICHT I

5 s AT FEOT TG

4 % HIENE FFEISH

Question Number : 33 Question Id : 13485 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following types of forest has the maxunmum biodiversity 7

Options:
1 % Temperate forests

> o Tropical ram forest

= #® Arctic forests

4 ® Comferous forests



Question Number : 33 Question Id : 13485 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e # O g R & a7 & gafos 39 fafauar gl s &
Options:

1. % eofidrsor a=
o o ICUTHIETHRT Tur del

Question Number : 34 Question Id : 13486 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which one of the following 1s a port town of Andhra Pradesh 7

Options:
1 % Karaikal

= % Mangalore
= " Krishnapatnam
4 % Kochi

Question Number : 34 Question Id : 13486 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

=1 & FI9 ATYS, FT UF FETINE AET B
Options:

1, ® CRIECT]

5 % HIENR

3 MU H

4 % g

Question Number : 35 Question Id : 13487 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Which one of the following 1s not a source of Government revenue 7

Options:
1« Government subsidy

o # Income tax

= % Foreignaid

4 # VAT

Question Number : 35 Question Id : 13487 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fArT & O 1 TNl T=75d &1 U GIT =Tl 87

Options:
1.« TN afeds]
o W TR

S_Wﬁ?ﬁm
4 % dT



Question Number : 36 Question Id : 13488 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Money Bill 1s introduced m

Options:
1 # Rajya sabha
o % Jomt sitting of both the houses

= % Separately in both the house
4 " Lok sabha

Question Number : 36 Question Id : 13488 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

o1 Taeae &gl v har aar &7

Options:
1 % =T T

o % Gl el T HIFT doh
= % Tl Heal H HelHu-
4« ol T8I0

Question Number : 37 Question Id : 13489 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The professional sportsman Palminder Cheema 1s associated with which of the following sports?
Options:
1 o Wrestling

- # Hockey
= % Shooting

4 % Weight Lifting

Question Number : 37 Question Id : 13489 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

9 f@emsT geifdey e e & ¥ 6w @o & §y o3 §u 87

Options:
1.9 E‘Eﬁ?‘ﬁ

o % Bl
= #% THem=drar
4 % SRIcdier=

Question Number : 38 Question Id : 13490 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
India's First Harbour Defence system was commuissioned at

Options:

1 % Vishakhapatnam
2 % Mumbai

= o Kochi

4. # Kolkata



Question Number : 38 Question Id : 13490 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
1 % Tdem@adca=#H7

E_Wﬂaé-
2 « FifkT
4 % hlcThldr

Question Number : 39 Question Id : 13491 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Mr. Ajay Mathur has recently been appointed as

Options:
1« Diretor General of The Energy and Resources Institute

o #® Duector of Indian Institute of Science

= # Director General of Bhaba Atomic Research Center

4 ® Director of IIT Dellu

Question Number : 39 Question Id : 13491 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

BIOT Gl 3 A1 37/ AR & Fged 79 &9 & f&Far @ &2
Options:
| T HY SO e & Apilece

5 % ANAE = gere & e
5 % ST OLATY] FE &g & e

. % TEIe, SIS fwe

Question Number : 40 Question Id : 13492 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Bulla Choudhary 1s associated with which of the following games 7

Options:
1 % Boxmg

o & SWimming
= % Shooting

4 % Wrestlmg

Question Number : 40 Question Id : 13492 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

geon AT FAFAfefaa 7 § 79 & & 91 95 §v &

Options:

1 % el

5 o OXTehl
= ® THn=drar



% el

Question Number : 41 Question Id : 13493 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which among the following 1s FALSE for Android Operating System

Options:
1 % Android 1s primarily designed for touch-screen devices

= % Android 1s a mobile operating system
= % Android is under open source license

4 + Android 1s developed by Microsoft

Question Number : 41 Question Id : 13493 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Usigs HfEer fawed & an & &Fa #§ § 21 g &7

Options:

| % SIS HET §U § &9 Whie 39l & forv Bers= far o &
o % USHS U Aldigel H¥ieer ffwes &

5 % USIT5 Gl §id 599 & Hd &

4  TSIds AN gann faefad fear g

Question Number : 42 Question Id : 13494 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

"Holding the mouse button down on a file/folder while moving the mouse”. Which MS Word
processing function 1s this?

Options:
1 % Cut

o o Dragging
= % Paste
4. % Copy

Question Number : 42 Question Id : 13494 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

"HI3H g UHhsad 19 & Ty WSahiesy U =AM & 3R A3 o0 /1. TATE 95 F 59
wfear &7 T FEd &7

Options:
1. ¥ &

E.JW
E_WW
4. % AT

Question Number : 43 Question Id : 13495 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Which MS Excel formula below includes a range:

Options:

1« =5um(C5:C11)
> #® =C3+Dl11

=z % =B4-B5

4 % =B4*B>5

Question Number : 43 Question Id : 13495 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e & & 9 vave vade wee # R gE e B

Options:
1 " =5um(C5:C11)

> ® =C5+D11
3 % =B4-B5
4 % =B4*BS

Question Number : 44 Question Id : 13496 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which sentence best describes " Office 365" 7
Options:
A group of online repository of songs. online radio and media library to keep subscribers entertained
1. ¥ when m office

- % An application to create artistic reports for management after analysis

A group of software plus services subscriptions which allows use of Microsoft Office apps on
= o Wimndows. provides storage on cloud storage and gives 60 skype minutes per month

4 % Anapplication to draw diagrams and orgamsation diagrams

Question Number : 44 Question Id : 13496 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

"HITRT 365" &1 59 & I Fid IO a9 Tdicdd §7 F IREET Hdr &7
Options:
HH & CRIA AGH B AARSAA T & a0 30, Hidens {=ar AR AfSar asglr & FHi=omsa

| % Y TR WG ©

5 % TAReMUT % ag 9aud & v Fecas ROie @@= & AT o6 v §

HIFeaaY o Ul &1 U §Hg ol fdsisl o ASHMIFe Hihd & TCellthel=] & 393 $I
2  FAATT T §, Fo135 TRl W HUSROT R uid #Alg 60 ThisT e &l &

4 % T 3R S9aeT T ST ol Ueh UTellhe= &

Question Number : 45 Question Id : 13497 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Which among the following statement 15 TRUE for word processors

A) It 15 not possible to nsert a table i Microsoft word.

B) Short Keystrokes make actions slow 1n word processors.

C) Oaly pre-loaded fonts work in word processors as new fonts cannot be added.
D) The clipboard temporarily holds information that 15 copied or cut

Options:
1. % A



- % B
3 % C
4 « D

Question Number : 45 Question Id : 13497 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AFalo@d ®ua # & &9 §1 a5 99e & o 59 ¢

A) FSHIGFE g5 F difele 4T a1 Td &

g) o€ Freled F FROT 5 UK #F Fae o g S &

C)&ad 9d @15 BicH &1 a5 YN & FF & & #dfd A Bicd A5 q60 o Had |
D) FeFeTadllS &Il a1 Fe &I §5 SRR H AR 9 F Tl & W@l &

Options:

1% A

2. % B

3 % C

4 %D

Question Number : 46 Question Id : 13498 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
What 1s "Google Chrome"?

Options:
1 # OSpread-Sheet

o« Web Browser
=z # Website
4 % Computer Language

Question Number : 46 Question Id : 13498 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Options:

1 ® wsiie
g_ﬁ?m
2 ® daasc

4 W TEEESAN

Question Number : 47 Question Id : 13499 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

"Web Spider”, " Web-Ant" and "Automatic Indexer" refer to what?

Options:
1. % Web Crawler

- # 5Search Engine
= % Search Query
g # Web Browser

Question Number : 47 Question Id : 13499 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
Options:
1 « dd Bl

2_%1':'_‘51-3-33—
B_Wﬁm
4 % O gER

Question Number : 48 Question Id : 13500 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Which among the following is true for Email Spoofing?

A) Forging an e-mail header to make it appear as if. it came from a trusted source
B) SMTP - does not mclude a way to authenticate

C) Email Spoofing is Illegal 1n all the countries

Options:
1 & AB

o W BC
o W AC
4 % ABC

Question Number : 48 Question Id : 13500 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Feafaf@d Fo=t # & i T S0 T § o 77 &2

A) SHS FT §5X BIfGHT I YSfeld il & &1 I5 U faedd=-ig @9 ¥ 39T &-
B) SMTP - YATTUTT &=l & UF dild & &7 & FiFATeld el &

) e ST Y Guit 2 A &

Options:

1 & AB

5 % BC

=z ® AC

4 % ABC

Question Number : 49 Question Id : 13501 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Using a "Mail Merge" facility in Outlook requires which one of the following . always used to send
bulk emails

Options:
1 # A connected printer to always print emails by default

- % A manual entry of recipient records for mdividual emails every time
= " A correct data source file of email recipient records with email addresses

4 % A momtoring mechanism for each email to be sent

Question Number : 49 Question Id : 13501 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:



| % T ST THeX G Bhice §9 ¥ S#el Afed e & fow

. % CATGEI SHe Ul BT U Hahd Ui 5 WA Gof e ol
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4 % U S S drel § #eT & AU U AT

Question Number : 50 Question Id : 13502 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which Email categories exist in famous Google/Gmail account?

Options:
1 % Prnmary. Secondary

> o Primary. Social and Promotions

= % Personal and Promotions

4 % DPersonal Social and Marketing

Question Number : 50 Question Id : 13502 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:

| % ST, Gfad

5 o UTTEE, AEANSS HR =R

= % ohEaId R TR

4 % TG AT 3R [a9oe

Question Number : 51 Question Id : 13503 Question Type: SUBJECTIVE
Correct : 25.0
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Question Number : 51 Question Id : 13503 Question Type: SUBJECTIVE
Correct : 25.0
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Question Number : 52 Question Id : 13504 Question Type: SUBJECTIVE
Correct : 25.0

BEIGIECRGICACR R LD =i

At ABC T T Tod #amea # o) Ga & 05 W UE § #ed 4 iAo ¢ 0%, rogu I ET AT oY oF . BEE 9 g am 21 5.
AT (WMo [ 20 ¢t TRT TAHT ST FIY T o FTHF T § F T T 313% STGagar I HaT Jiea®T 0 ot
Hareft e Fie AT &1 3% ey TTia g9 & U AR i o SiT Ui g ST T |

s TEH A,

T AFTAT & BIHE T & ST Tield & ST Tod HTa & FTHE [T § Saied HTAAT & 0% Fi2id @1 1o = aTe 73 &7

AT d @ s &t ABC T gy T et TelemuT o 1o Yo |y ol STertel o quf gl o (g, Sy e §
Wmﬁﬁmﬁmﬁmﬁmﬁmmwﬁﬁﬁﬁmma@ﬂ@ o

Question Number : 52 Question Id : 13504 Question Type: SUBJECTIVE
Correct : 25.0
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Question Number : 53 Question Id : 13505 Question Type: SUBJECTIVE
Correct : 25.0
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Question Number : 53 Question Id : 13505 Question Type: SUBJECTIVE
Correct : 25.0
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Question Number : 54 Question Id : 13506 Question Type: SUBJECTIVE



Correct : 25.0
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Question Number : 54 Question Id : 13506 Question Type: SUBJECTIVE
Correct : 25.0
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Question Number : 55 Question Id : 13507 Question Type: SUBJECTIVE

Correct : 25.0

& consumer Mr Raja purchased a bottle of TTTinson Baby Shampoo from Deep Supermmarket, Tirupati.
Although he regularly purchases this brand manufactured by TTTinson Eaby Products, Dehradun, for his
infant daughter, this bottle that he has purchased from Deep Supermarket Nas caused severa skin rash to her.
He suspects that the Superrmarket is selling duplicates of this renowrned brand.

In this background prepare the following draft:

& letter as written by Mr Raja to TTTinson Baby Products, Dehradurn, complaining about the problems faced
by the family and especially his infant daughter after the use of the duplicate product purchased from Deep
Supermarket, Tirupati. He urges the cormpany to support him as he intends to approach the Consumer Court
in order to get compensation for the damage.



Question Number : 55 Question Id : 13507 Question Type: SUBJECTIVE

Correct : 25.0

& consumer Mr Raja purchased a bottle of TTTinson Baby Shampoo from Deep Supermarket, Tirupati.
Although he regularly purchases this brand manufactured by TTTinson Baby Products, Dehradun, for his
infant daughter, this bottle that he has purchasad from Deep Supermarket Has caused severa skin rash to her.
He suspects that the Superrmarket 15 selling duplicates of this renowrned brand.

In this background prepare the following draft:

A& letter as written by Mr Raja to TTTinson Baby Products, Dehradurn, complaining about the problems faced
by the family and especially his infant daughter after the use of the duplicate product purchased frorm Deep
Supermmarket, Tirupati. He urges the cormpany to support him as he intends to approach the Consumer Court
in order to get compensation for the damage.

Question Number : 56 Question Id : 13508 Question Type: SUBJECTIVE
Correct : 25.0
Make a précis of about 150words and suggest a title for it

& study of climate change and land-use impacts on butterfly populations in England has revealed that
persistence of a business as usual scenario will lead to widespread drought-sensitive butterfly population

extinctions occurring as early as 2050,

Apart from climate change due to greenhouse gas emissions, diversion of sermni natural hakitat areas by
fragmenting thern for food and energy needs is another factor in drought sensitive butterfly population
collapses. However, there is a S0 per cent probability of achieving persistence right through 2100 if landscape
management (restoring the sermi natural habitats to reduce fragmentation) is combined with a drastic
reduction in emissions, notes a paper published recently in Nature Climate Change.

The study used extensive long-term butterfly population data from 129 sites of the UK Butterfly Monitoring
Scherme to assess historical responses of 28 species to an extreme drought event in 19585, This was the most
Severa SuITuTer since records began in 177E.

Eutterflies, though warmth-loving, can exhibit declines in population due to heat stress to larvae and absence
of host plants under aridity conditions. The study calculated recovery rates by measuring population change
in the four years following the drought and found that the recovery rate was greater inl 4 sermi natural habitat
with large contiguous area unlike a highly fragmented one. When recovery times exceed return times of
drought, it would lead to continual population erosion, and ultimately local extinction, the authors say.

The study authors refer to the extent of fragmentation as "edginess,” meaning that there are more edges in a
fragmented habitat and the more the edges the more the population decline due to less soil moisture at the
edges. Explaining this, the study’'s lead author, Dr. Tom Oliver from the University of Reading School of
Eiological Scienices, TIE said in an ermail to this corresporndent: “This is sirmply due to the physics that things
tend to dry out at their edges first. The centres of woodlands, which are dense and shady, remain moist for
longer. In contrast, the edges dry out quicker, probably because they recerve more sunlight which dries out the
forest floor and also there are more air currents which lead to higher rates of evaporation.

In comparison to this scenario, populations on the brink of extinction can be rescued if there is improved
connectivity to neighbouring fragments and populations. This rescue effect refers to the phenornenon
whereby, when a population becormes locally extinct, it can be re-colonised by individuals from nearby
populations.

However, individuals only tend to move across landscapes and produce the rescue effect) when the
landscapes are less hostile. In contrast, when there are larger amounts of favourable butterfly hahitats in the
intervening landscape {.e. a well connected landscape), then individuals are more likely to move across it and
lead to the rescue effect allowing recovery of the population that went locally extinct.

Cmne possibility is that microevolution of drought tolerance could mitigate some future impacts. Although there
are exarnples where evolution in response to climate change can occur rapidly, in Britain it may not occur
because butterfly populations are srmall.

Question Number : 56 Question Id : 13508 Question Type: SUBJECTIVE
Correct : 25.0



Make a précis of about 150words and suggest a title for it

A study of climate change and land-use impacts on butterfly populations in England has revealed that
persistence of a business as usual scenario will lead to widespread drought-sensitive butterfly population
extinctions occurring as early as 2050.

Apart from climate change due to greenhouse gas emissions, diversion of semi natural habitat areas by
fragmenting them for food and energy needs is another factor in drought sensitive butterfly population
collapses. However, there is a 50 per cent probability of achieving persistence right through 2100 if landscape
rmanagement (restoring the sermi natural habitats to reduce fragmentation) is combined with a drastic
reduction in emissions, notes a paper published recently in Nature Climate Change.

The study used extensive long-term butterfly population data from 129 sites of the UK Butterfly Monitoring
Scherme to assess historical responses of 28 species to an extreme drought event in 1995, This was the most
Sevare SUITITer since records began in 1776

Eutterflies, though warmth-loving, can exhibit declines in population due to heat stress to larvae and absence
of host plants under aridity conditions. The study calculated recovery rates by measuring population change
in the four years following the drought and found that the recovery rate was greater in a sermi natural habitat
with large contiguous area unlike a highly fragmented one. When recovery times exceed return times of
drought, it would lead to continual population erosion, and ultimately local extinction, the authors say.

The study authors refer to the extent of fragmentation as "edginess,” meaning that there are more edges in a
fragmented habitat and the more the edges the more the population decline due to less soil moisture at the
edges. Explaining this, the study’s lead author, Dr. Tom Oliver from the University of Reading School of
Eiological Sciences, UK said in an email to this correspondent: “This is simply due to the physics that things
tend to dry out at their edges first. The centres of woodlands, which are dense and shady, remain moist for
longer. In contrast, the edges dry out quicker, probably because they receive more sunlight which dries out the
forest floor and also there are more air currents which lead to higher rates of evaporation.

In cormparison to this scenario, populations on the brink of extinction can be rescued if there is improved
connectivity to neighbouring fragments and populations. This rescue effect refers to the phenomenon
whereby, when a population becormes locally extinct, it can be re-colonised by individuals from nearby
populations.

Howrever, individuals only tend to move across landscapes (and produce the rescue effect) when the
landscapes are less hostile, In contrast, when there are larger amounts of favourable butterfly habitats in the
intervening landscape {i.e. a well connected landscape), then individuals are more likely to move across it and
lead to the rescue effect allowing recovery of the population that went locally extinct.

Cne possibility is that microevolution of drought tolerance could mitigate some future impacts. Although there
are exarmples where evolution in response to climate change can occur rapidly, in Britain it may rnot occur
because butterfly populations are small.



